Progress Probe #1660737: 7th Grade Science TCAP Blitz Week 5 (Grade 07 SC)
	Teacher Key with Answers

	Ques
	Answer
	Level
	Skill
	Subskill
	Item #

	1
	D  
	Moderate  
	PS: Motion  
	SPI 0707.11.1 Simple Machines [99130]
	U56100

	2
	C  
	Moderate  
	PS: Motion  
	SPI 0707.11.2 Force and Work [99131]
	U56083

	3
	D  
	Moderate  
	PS: Motion  
	SPI 0707.11.3 Speed and Velocity [99132]
	U56096

	4
	A  
	Moderate  
	PS: Motion  
	SPI 0707.11.4 Newton's Laws [99133]
	U56213

	5
	A  
	Moderate  
	PS: Motion  
	SPI 0707.11.4 Newton's Laws [99133]
	U56244

	6
	B  
	Moderate  
	PS: Motion  
	SPI 0707.11.5 Waves [99134]
	U55821

	7
	C  
	Moderate  
	PS: Motion  
	SPI 0707.11.5 Waves [99134]
	U55819

	8
	C  
	Moderate  
	PS: Motion  
	SPI 0707.11.1 Simple Machines [99130]
	U56087

	9
	B  
	Moderate  
	PS: Motion  
	SPI 0707.11.1 Simple Machines [99130]
	U56163

	10
	A  
	Moderate  
	PS: Motion  
	SPI 0707.11.2 Force and Work [99131]
	D18585

	11
	A  
	Moderate  
	PS: Motion  
	SPI 0707.11.3 Speed and Velocity [99132]
	D84504

	12
	B  
	Moderate  
	PS: Motion  
	SPI 0707.11.4 Newton's Laws [99133]
	D1439

	13
	B  
	Moderate  
	PS: Motion  
	SPI 0707.11.4 Newton's Laws [99133]
	D54231
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	Question 1 of 13

	Wind energy is a renewable energy source. Windmills are used to convert the energy of the wind into electricity. The turning blades of the windmill act as a turbine that drives a generator to produce electricity. 

Which of the following simple machines is used to turn the blades? 
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	A.
	level 

	[image: image2.wmf]  
	B.
	inclined plane 
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	C.
	pulley 
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	D.
	wheel and axle 
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	All of the forces acting on a moving car are balanced when the car is __________ 
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	A.
	slowing down. 
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	B.
	accelerating. 
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	C.
	moving at a constant speed. 
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	D.
	skidding on a wet surface. 
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	The gravitational attraction between objects increases as ________ 
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	A.
	the volume of the objects increases. 
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	B.
	the objects are moved farther apart. 
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	C.
	the mass of the objects decreases. 
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	D.
	the objects move closer together. 
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Which numbered arrow shows the force that causes the flight of the ball to curve? 
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	A.
	1 
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	B.
	2 
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	C.
	3 
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	D.
	4 
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	Which of the following forces causes a thrown ball to follow a curved path? 
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	A.
	gravity 
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	B.
	centrifugal forces 
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	C.
	inertia 
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	D.
	centripetal forces 
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	Which wave below has the longest wavelength? 
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	A.
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	B.
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	C.
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	D.
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Which part of the diagram shows amplitude? 
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	A.
	P 
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	B.
	Q 
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	C.
	R 
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	D.
	S 
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	Which of the following simple machines rotates around an axle? 
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	A.
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	B.
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	C.
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	D.
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Which of these simple machines will most easily separate the tire from the rim? 
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	A.
	screw 
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	B.
	wedge 
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	C.
	inclined plane 
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	D.
	wheel and axle 

	 


	Question 10 of 13

	A tightrope walker walking on a tightrope with his hands outstretched to his sides best represents which of the following quantities?
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	A.
	torque
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	B.
	gravitational pull
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	C.
	force
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	D.
	inertia
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	An athlete completes a race of 400 m in 40 seconds. At which speed did the athlete cover this distance? 
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	A.
	10 m/s
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	B.
	40 m/s
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	C.
	800 m/s
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	D.
	1600 m/s
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	What is the mass of a stone which accelerates at a rate of 2 meters/second2 when a force of 500 newtons is placed on it?
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	A.
	125 kilograms
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	B.
	250 kilograms

	[image: image58.wmf]  
	C.
	1000 kilograms
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	D.
	2000 kilograms

	 


	Question 13 of 13

	It would be easier to push a stalled compact car than a stalled limousine. This is an example of Newton's second law of motion. Which equation below represents this law?
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	A.
	W = F x D
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	B.
	F = m x a
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	C.
	MA = l/h
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	D.
	V = d/t
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